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QUESTION 1

A network engineer might choose to use SSL_Bridge instead of a SSL virtual server in order to . (Choose
the correct option to complete the sentence.)

A. be able to decrypt the SSL traffic

B. enable use of OCSP for revoked certificates

C. pass user certificates to the back-end servers

D. enable SSL server certificates on the service group

Correct Answer: C

QUESTION 2

Which load-balancing method is used in connection mirroring and firewall load balancing?
A. URL Hash

B. Source IP Soure Port Hash

C. Destination IP Hash

D. Call ID Hash

Correct Answer: B

QUESTION 3

When a network engineer logs onto a new NetScaler device in the London datacenter, data output indicates that the
device is NOT configured for the local time.

How can the network engineer synchronize the correct time with an NTP server in the local data center?
A. Configure the correct time from the GUI and restart.

B. Modify the ntp.conf and rc.netscaler files and restart.

C. Logon using the nsrecover/nsroot credentials and restart.

D. Configure the NetScaler as a secondary NTP server and restart.

Correct Answer: B

QUESTION 4

When would it be necessary to configure Failover Interface Set (FIS) in an environment that has two NetScaler
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appliances in high availability (HA) mode?

A. Link redundancy is required.

B. Route monitors are required.

C. HA monitor is disabled in some interfaces.

D. The NetScaler appliances are configured on different networks.

Correct Answer: A

QUESTION 5

A network engineer has noted that the primary node in an HA pair has been alternating as many as three times a day
due to intermittent issues.

What should the engineer configure to ensure that HA failures are alerted?
A. LACP

B. SNMP

C. Route monitors

D. Failover Interface Set

Correct Answer: B
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